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INSTRUCTIONS (Dé%fmw)

1. Please check the Test Booklet and ensure that it contains all the questions. If you find any defect
in the Test Booklet or Answer Sheet, please get it replaced immediately.
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2. The Test Booklet contains 150 questions. Each question carries one mark.
(%), DSBS 150 Lé%lc»éll). 8.5 Lé>§1§° ERS Zﬁr’doa_ Beronodadds.

3. The Question Paper is set in English and translated into Telugu language. The English version
will be considered as the authentic version for valuation purpose.
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4. The Test Booklet is printed in four (4) Series, viz. @] . The Series, or or or.

is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test
Booklet Series or@oror@in Part C on side 2 of the Answer Sheet by darkening the
appropriate circle with HB Pencil.
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Example to fill up the Booklet Series
If your Test Booklet Series is A, please fill as shown below :
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If you have not marked the Test Booklet Series at Part C of side 2 of the Answer
Sheet or marked in. a way that it leads to discrepancy in determining the exact
Test Booklet Series, then, in all such cases, your Answer Sheet will be invalidated
without any further notice. No correspondence will be entertained in the matter.
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Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than
one circle is darkened, _th(_a answer will not be valued at all. Use HB pencil to make heavy black
marks to fill the circle completely. Make no other stray marks.
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e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
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Mark Paper Code and Roll No. as given in the Hall Ticket with HB pencil by darkening
appropriate circles in Part A of side 2 of the Answer Sheet. Incorrect/not encoding will lead to
invalidation of your Answer Sheet.
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Example : If the Paper Code is 027, and Roll No. is 95640376 fill as shown below :
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Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.
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8. To change an answer, erase completely the already darkened circle and use HB pencil to make

fresh mark.
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9. The candidate should not do rough work or write any irrelevant matter in the Answer Sheet.
Doing so will lead to invalidation. '
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10. Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
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11. DBefore leaving the examination hall, return the Answer Sheet to the Invigilator, failing which,
disciplinary action will be taken.
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Which was the first satellite to be |6. The material used for a fuse wire should
repaired in space ? have

(1) Challenger
(2) Solar Marx

(1) low melting point

(2) high melting point
(3) Discovery

(4) Palapa (3) hlgh ductility

(4) high resistivity

A photoelectric cell converts

(1) electrical energy into heat energy 7. Radioactivity is a property of
(2) light energy into sound energy '
' ) (1) X-rays
(3) clectrical energy into light energy ’
(2) ultraviolet light
(4) light energy into electrical energy :

(3) atomic nuéléi ]

The colour of a star is an indication of its (4) excited electronics
(1) size
(2) shape

8. What is the source of electric energy in
(3) temperature an artificial satellite ?

(4) distance (1) A dynamo

2) Sol 11
Infra-red rays were first detected by (2) Solar cells

(1) Herschel (3) A thermopile
(2) Rayleigh (4) A mini nuclear reactor
(3) Huygens

(4) Maxwell 9. The following is used as a lubricant in
heavy machines :

The intensity level of sound is measured (1) Sulphur

in

(1) Hertz (2) Bauxite

(2) Bel (8) Graphite
(8) Joules (4) Phosphorus

(4) Angstrom
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10.

11.

12.

13.

(6)
1 byte is equal to 14.
(1) 2 bits
(2) - 8 bits
(3) 16 bits
(4) 32 bits
15.

The working principle of a washing
machine is

(1) Centrifugation
(2) Decantation
(3) Capillarity

(4) Diffusion

Which one of the following scholars
suggests the Earth’s origin from gases
and dust particles ?°

(1) H. Alfven
(2), O. Schmid
(3) F. Hoyle

(4) James Jeans

Chemically, baking soda is.
(1) baker’s yeast

(2) calcium phosphate

(3) “sodium bicarbonate

4)

sodium chloride

16.

17.

18.

s
1

GS/200

A gas which is not¢ present in normal
samples of air is

(1)” chlorine
(2) neon
(3) helium

(4) carbon dioxide

The element not present in fertilisers is

(1) phosphorus

(2) nitrogen -
(3) hydrogen

(4) « chlorine

The boiling point of water, on the Kelvin
scale of temperature, is

(1) 273
(2)~ 373
(3) 100
(4) 212

The gas used for artificial ripening of
green fruit is

(1) ethane

(2)~ ethylene

(3) acetylene

(4) carbon dioxide

The Central Drug Research Institute is in
(1) Lucknow

(2) Bangalore

(3) Allahabad

(4) Hyderabad



GS/200

10.

11.

12.

13.

28 ‘BE, & (B8odrS® BIE BirdEN ?

(1 2 DEYS
(2) 8 D&YDH
(3) 16 DEYVS
(1), 32 D&Y

who GHXH abo|Sdw D D Qe (S
sor8dE H o ?

(1) wdSohESmiw

(2) 8o
(3)  0®JByeadw
(4)  DDdBeadw

S 808 Xr0S’, e G wIuyHEw

Fado b ErO¥maroing
DCS‘D&}S& @0 JrNoVIBIL ?

1) . 96,_335

(2) . 2)&5

(B) 9. FahHS

(4) 2Dy £y

dévobﬁbégmn"", Do ¥
(1) BEEy &

(2) QoS FE

(3). BB BSETNIE

(4) QoD §°06

(7)

14.

15.

16.

17.

18.

ooy ¥ s

Saraeds®
£dAo%wodd MO 8 ? :

(1 ses
2) JBrS
3) rONHD

(4) 516735 gaﬁg&

G (808 aSF, AHPHOS®  soddens o
Lrogdn 28 ?

(1) PTNES
(2) “3_@3";35
(3).
4) 50

\

T &S

SRS WS (DS Chw, % 2od SIS
Joow

(1) 273

(2) 373

3) 100

4) 212

DU Dotk ¥y @%odwrr K)@égsédwm
Towe® &IBrAoD aeavd)

(1), 38
2 008
(3) DS

4) 5°5)S dorE)6

Wo|OS (BA 86 asdirgd adyb o
(1 o8y

(2) BoKSrd

(3) word

4), doverd



19.

20.

21.

22.

(8)

The substance =~ coated on

plastic
tape-recorder tapes 1s '

(1) magnesium oxide

(2)

zinc oxide

(3) 1iron sulphate

(4) 1iron Qxide

The commonly used medicine for typhoid
is
(1) a sulpha drug
(2) -chloromycetin
(3) chloroquin

(4) ascorbic acid

In oil wells, oil, water and gas are
present in the following ascending order :

(1) gas, oil, water
(2) oil, gas, water
(3) water, oil, gas
(4) water, gas, oil

The Indian Rice Research Institute is
located at

(1) Kolkata
(2) Cuttack .
(3) Mumbai
(4) New Delhi

23.

24.

25.

26.
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The substance that canrnot be further
decomposed by chemical means is '

(1) silver
(2) sugar
(3) water
(4) air

The first synthetically prepared organic
compound was

(1) methane
(2) benzene
(3) glucose
(4) wurea

Artificial silk is also known as

(1) nylon

(2) rayon

(3) dacron

(4) fibre glass

In sunlight, a rose appears red. In green
light, the same rose appears

(1) Black
(2) Yellow
(3) Green
(4) Red
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28.

29.

30.

(10)

The numerous minute pores in the |31.
epidermis of a leaf are called
(1) stomata
(2) lenticels
(3) hydathodes
(4) perforation

32.

Which of the following is most important
for the growth of children upto the age of
14 ?

(1) Fats

(2) Milk

(3) Vitamins
(4) Proteins |

The transport of organic substances in’|
plants is through

(1) xylem
(2) phloem
(38) fibres

(4) wood

The National Bureau of Plant Genetic
Resources is at

(1) Jammu
(2) Shillong
(3) New Delhi
(4) Bangalore

33.

34. .

35.

GS/200

The universal recipient blood group is
(1) AB

(2)

3)

(4)

The International Rice Research Institute
is based in )

(1
(2)
(3)
(4)

Nigeria
Mexico
Australia

.Philippines

Venous blood is carried to the lungs for
oxygenation by the

(1) pulmonary veins
(2) -pulmonary arteries
(3) right ventricle

(4) vena cava

Insufficient dietary iodine causes a/an
¢h) '
(2)
3
(4)

giant

cretin

enlarged thyroid
small thyroid

.

Agents that cause birth defects are
(1)
(2)
3)
4)

teratogens
pathogens
mutagens

abortogens
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36.

37.

38.

39.

(12)

Sea animals which are used in making
jewellery are

(1) Sea fish

(2) Algae

(3)

Corals

(4)

Zooids

The total number of ear bones are
(1) 8
(2) 6
(3) 4

(4) 2

The functional unit in Ecology is the

(1)

population

(2)

biosphere

3)

organism

(4)

ecosystem

A drug used in the prevention and control
of malaria is

Heterozine

(1)
(2)

Chloroquine
(3)

Piperazine

Resorcinol

(4)

40.

41.

42,
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The study of structure of living
organisms is known as
(1) Anatomy
(2) Cytology
(3) Histology
(4) Physiology
The Nobel

Prize 2007 winner for
Literature is '
(1) Albert Fert
(2) Eric Maskin
(3)

Doris Lessing -

(4) Gerhard Ertl

The 14 SAARC Summit was held
during ' '

(1) 5-6 March, 2007
(2) 3-4 April, 2007
(3)

(4)

12 - 14 November, 2007

10 - 11 December, 2007

The number of member countries of the
European Union is

1) 21
@) 23
3) 25

(4) 27
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45.

46.

47.

- (2)

(14)

The Mahatma Gandhi International
Award for Reconciliation and Peace, 2008
was conferred on

(1) Wangari Maathai

(2) Nelson Mandela

(3) Shyam Benegal

(4) John Banville

The Commonwealth Heads of
Government Meeting (CHOGM) is being
held once in

(1

six months
(2) a year
(3) two years

(4)

three years '

The winner of the Wimbledon Women
Singles title 2008 is

(1) Venus Williams
Serena Williams
(3)

Dinara Safina

Ana Ivanovic

(4)

D.L.F. Indian Premier League (L.P.L.)
title was won by

(1) Kolkata Knight Riders
(2)
3)

(4)

Mumbai Indians
Chennai Super-Kings

Rajasthan Royals

48.

49.

50.

51.

GS/200
The 19%h Commonwealth Games 2010
will be held at

(D

London

(2) Sydney

(3) New Delhj

(4)

Colombo

The champion of the ICC Cricket World
Cup 2007 is

(1) India
(2) Sri Lanka
(3) Australia
(4) England

The 95 Science Congress'“Was held at
(1) Hyderabad

(2) Visakhépatn@
(3) Kanpur
(4)

Tiruvananthapuram

The North European Gas Pipeline deal is
between

(1)

Germany and Russia
(2) Russia and Poland
(3)

(4)

France and Germany

Germany and Poland
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53.

54.

55.

(16)

The Right to Information Act of 2005
replaces the old Freedom of Information
Act of

(1) 2000
(2) 2001
(3) 2002

2003

Brahmos, the supersonic cruise missile, is |

Jjointly developed by India and
(1)

France

(2) Russia

(3) U.S.A.

(4) Germany

The dispute over Baglihar Project is
between India and

(1) Nepal

(2) China

(3) Bangladesh
(4) Pakistan

INS Beas, the guided missile frigate was
commissioned in '

(1) Kolkata

(2) Paradip
i\/[umbai

3)

(4) Visakhapatnam

56.

57.

58.

59.

(1)
@
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India’s  first
inaugurated in
(1)
(2)
(3)
(4)

mobile court was

Alwar, Rajasthan
Chitrakoot, Uttar Pradesh
Mewat, Haryana

Anglong, Assam

The Chairman of 18th

Commission is

V.R. Krishna Iyer
A.R. Lakshmanan
M.M. Punchi
V.K. Duggal

the Law

3)
(4)

India launched its first ever scientific
expedition to the Arctic region on

(1) January 25, 2007
(2) April 20, 2007

3) | September 15, 2007 |
(4) August 3, 2007

The first winner of the ‘National Water
Award’ is

(1) Hem Dutta

(2)
(3)
@)

Popat Pawar
Ram Mohan

Jaiprakash Jaiswal

The National Land Reforms Council was
set up on

(1) April 16, 2007

(2) May 21, 2007

(3) October 29, 2007
(4) December 29, 2007
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The first India-Russia-China trilateral
business conference was held in.

(1) New Delhi
(2)
(3)
(4)

Moscow
Beijing
Guwahati

Ban Ki-Moon took over as United Nations
Secretary-General on

(1) July 1, 2006
(2) January 1, 2007
(3) July 1, 2008
(4) January 1, 2008

India’s communications satellite
INSAT-4B was launched from

(1) Thumba

(2) Baikonur

(3) Sr;harikota

(4) French Guiana

The Central Salt and Marine Chemicals
Research Institute is situated in

(1) West Bengal

(2) Orissa
(3) Gujarat
(4) Andhra Pradesh

The institute produced by the Uruguay
Round of talks is

(1)

Multilateral Agreement on

Investment
(2) International Trade Organisation
(3) International Monetary Fund
(4) World Trade Organisation

67.

70.
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The announcement of the discovery of the
19% Planet to orbit the Sun was made by
the astronomers of

(1) US.A.

(2) Russia
(3) France
(4) India

The capital of the Congo is

(1) Accra

(2) - Dili

(3) Bissau

(4) Brazzaville

The United Nations World Refugee Day
is ‘

(1) 21% May

©2) 20 June

3) 19% July

@) 18t August

The Advanced Jet 'I‘raiher aircraft

recently inducted into the Indian Air
Force is

(1) Jaguar

(2) Gorshkov
(3) Mirage-2000
(4) Hawk-132

The film which won the Oscar award for
Best Film at the 80'" Annual (Academy)
Awards is

(1) Elizabeth : The Golden Age
(2) The Bourne Ultimatum -
(8) No Country for Old Men
(4) Michael Clayton
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The annual rate of inflation during July,
2008 has hit a new high of 2:2 million
percent in

(1) Sudan

(2) Nigeria
(3) Zambia
(4) Zimbabwe

The venue of the G-8 Summit held during
July, 2008 in Japan was B

(1) Hokkaido
(2) Osaka

(3) Kyoto

(4) Yokohama

first Research Station in the
Arctic, ‘Himadri’ was inaugurated on

(1) April 20, 2008
(2) May 10, 2008
(3) June 2, 2008
(4) July 1, 2008

India’s

In Andhra Pradesh as on July, 2008 the
hamlet which has achieved 100 percent
literacy is

(1
(2) Sovva, Visakhapatnam district
(3) Atmakur, Anantapur district

(4) Chevella, Ranga Reddy district

Kukunoor, Khammam district

A Radio programme, ‘Vidya Tharangalu’
is being aired for the

(1)
(2) school teachers

school students

(3) college and university students

(4) farmers

76.

71.

78.

79.

80.
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The Kisan call centre telephone number
is

(1) 1661
(2) 1515
(3) 1441
(4) 1551

During July, 2008 Shahab-3 missile has
been test-fired by

(1) Pakistan

(2) Israel

(3) Iran

(4) Trag |

In the Trust vote held on July 22, 2008 in
the Lok Sabha, the votes secured as
‘AYES’ and ‘NOES’ respectively were

(1) 257 and 252
(2) 275 and 256
(3) 279 and 257
(4) 281 and 259

Nepal’s first elected President is
(1) Girija Prasad Koirala

(2) Paramananda Jha

(3)

Dr. Ram Baran Yadav *

(4) Ramaraja Prasad Singh

The ‘Bird’s Nest’ stadium is at
(1)
(2)
(3)
4)

Athens
Beijing
Seoul

Sydney
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85.
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(22)
The local name 'of Mohenjodaro is 86.
(1) Mound of the Great
(2) Mound of the Living -
(3) Mound of the Survivor
(4) Mound of the Dead
Name the ruler of the Kushan dynasty. 87,

(1)
(2)
(3)

Kadphises I
Ugrasena
Vikramaditya

Pushyamitra

The title ‘Vikramaditya’ was assumed by
(D |
(2)
(3)
(4) ChandraguptaFII

Ashoka
Kanishka
Samudragupta

The great granary of the Harappan
civilisation has been found at

(1)
(2)
(3)
4)

Ropar
Harappa .
Kalibangan
Mohenjodaro

When did Alexander invade India ?

327 BC
303 BC .
302 BC
298 BC

(D
(2)
3)
(4)

88.

89.

(2)

GS/200

At which of the following places has a
major Rock Edict of Ashoka been found ?

(D
(2)
3)
(4)

Girnar
Allahabad
Barabar

Delhi

Who were the immediate successors of
the Mauryas in Magadha ?-

(1) Satavahanas
(2) Kushans

(3) Sungas .

(4) Pandyas

The remains of the Vijayanagar empire
can be found in

(1)
(2)
3)
(4)

Bijapur
Hampi » .
Baroda
Golconda

In the Third Battle of Panipat, the
Marathas were defeated by the

(1) English

(2) Ruhelas

(3) Afghans
(4) Mughals

Ramanuja preached
(1) ahimsa

bhakti

gyan

the Vedas

(3)
(4)
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In which year did Bankim Chandra

Chattopadhyay write Anandmath ?
(1) 1882
(2) 1885
(3) 1892

(4) 1895

The formation of an Interim Government
set up on September 2, 1946 was first
envisaged by

(1)
(2)

Simon Cominission
Cripps Mission

(3) Wavell Plan
(4)

Cabinet Mission Plan

The Muhammedan Anglo-Oriental
Defence Association (1893) was started
by

(1) Badruddin Tyabji
(2) T. Beck

(3) A.S. Samuelson
(4) Syed Ahmed Khan

Hunter Commission was appointed by
the British to probe into the

(1)
(2)
3

Chauri-Chaura incident

Bardoli Satyagraha

.

Jallianwala Bagh tragedy

(4) Khilafat agitation

95.

96.

98.

GS/200

On September 20, 1932 Mahatma Gandhi '
began a fast unto death in Yervada Jail
against

(1)

Communal Award of

MacDonald

Ramsay

(2)

British repression of the satyagrahis |,

(3) Violation of the Gandhi-Irwin Pact

(4) Communal riots in Calcutta

On the Direct Action Day unprecedented
bloodshed took place as a result of
Hindu-Muslim riots in

(1)
(2)
(3)
(4)

Delhi
Bombay
Dhaka
Calcutta

Mahadev Govind Ranade was a member
of the '

(D
(2)
3)
(4)

Arya Samaj
Prarthana Samaj
India League

Theosophical Society

The Governor-General of India who .
proposed the change of capital from
Calcutta to Delhi was

(1)
(2)
3)
(4)

Lord Hastings
Lord Canning
Lord Hardinge II

Lord Curzon



GS/200

91.

92.

w080 WolS IS yrergodnd eS0EHE &
BVoDD DODS B

(1) 1882
(2) 1885
(3) 1892
(4) 1895

VPoH 2, 1946 &° bc-agzs srar) O
(BeHEgEnG TS0 (586005

(1) 208 S
2) (8D) AS
@) >3S FS

(1) 5¢DIE RS &S

é»a’sv&&CSS eonﬁ‘-a,agﬁobcf
oJNDHAS (1893) O (BoDoDde

- ES

1) 2&8S ergese

(2) &. 3§

3) QR FHargSHS
(4) Bahgh eirins oS

D8RS, Hrobs $DaSH FJD 565ES

Do Doy SO ?

(1) JT6-Fo> dodowrd

2 28O Sarg(rsiw

@) 2000S arer 2rh HEHbLS

(4) DerdS wo&'ed

(25)

95.

96.

97.

98.

& (308 &S, dos Sg8T &L
Whowth 20, 1952 & Loy mob
Do“sc‘.ﬁ Zewdo uDdn oY
I8 ?

(1) oD 3)§5‘a°§ ERrgdeS oT§ Hod

2 Jegifrod  (DSRTEH  ©ssdScke
dod

3) mod-adgS >§ / abod
8 3(EDothHey Hod

(4) Solors éémgzscf Eodduo o3

80§ orES d / ($8g dorodn e,
OS> - AWD0L EoFEne Hod OIS
SIS 20AS Sew
COIY-1>

(2) ewrod

@) s

(4) Soser

5B B8 oodd, &
BXS* dahgdk 7

D) oy SHradw

(2) La‘g@ Sy’

3) =0da¥ HF

@) BabIPES

(B0BaAS*,

Sofer 2od 398 oraprdd SrE O
(B8>SS IS, =m080%e BO8) o-2258¢5
DK 7

(1) o8 TPohy

2) o°§ s°gdoh

(3) o~ &Qoh II

@ o§ 883



99.

100.

101.

102.

(26)

Which of the following classes
participated the least in the Indian
National Movement ?

(1)

Princes of states

(2)

Government officials

(3) Peasants

(4) Capitalists

Who of the following nationalist leaders
has been referred to as ‘Lokhitwadi’ ?

(1) Lala Lajpat Rai

(2) Vishnu Krishna Chiplunkar

(3) Gopal Hari Deshmukh

(4) Motilal Nehru

Who set up the famous ‘Bengal Chemical
Swadeshi Stores’ during the Swadeshi
Movement ? -

(1) P.C. Roy
(2)

(3)

Anandamohan Bose

Ashwini Kumar Dutt

(4) Rabindra Nath Tagore

The first Satyagraha campaign of
Gandhiji was started in

(1) Bardoli

(2) Baroda

(3) Dandi

(4) Champaran

103.

104.

105.

1106.

107.

‘Who

GS/200

has been referred to as
‘conscience-keeper’ of Gandhiji ?

the

(1) C. Rajagopalachari

(2) G.K. Gokhale

(3) Lala Lajpat Rai

(4) Madan Mohan Malviya

Stafford Cripps was a member of the
(1)
(2) Liberal Party
(3) Labour Party
(4) Official hierarchy

Conservative Party

The Go;/ernor-(}eneral of India who
initiated the introduction of English in
India was

(1) Lord Hastings

(2) Loi‘d Bentinck

3) Lgrd ‘Curvzon _

(4) Lord Ripon

The instrument used for measuriﬁg
humidity is ’

(1) - Thermometer

(2) Barometer

(3) Hydrometer

4) Hygrometér

Blizzards are characteristic of
(1) Temperate region

(2) Antarc;tic region

(3) Equatorial region

(4) Tropical régidn
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(28)

An upper air wind system with very high

velocities in certain parts of the

atmosphere is called

T1I) a jet stream

(2) a cyclone
(3) an anticyclone
(4)

monsoon

Rainfall caused due to the presence of
mountains in the way of winds is called

(1) cyeclonic rain
(2)
(3)
(4)

advectional rain
orographic rain

conventional rain

Plains formed due to the filling up of
lakes are called e

(1) peneplains

(2) alluvial plains

(3) flood plains

(4) karst plains

’To which group does the bléck cotton soil
of India belong ?

(1) Alluvial

(2) * Laterite

(3) Podzol

(4) Chernozem

112.

113.

114.

115.

116.

GS/200

The name given to native American
Indians is

(1) Amerinds

(2) Alpine

(3) Bushman

(4) Mestizoes

The largest producer of long staple cotton
is

(1) Sudan

(2) China

(3) U.SA.

(4) India

India is a leading producer of
(1) cheese

(2) butter and ghee

(3) pork

(4) meat

Iron is obtained mostly from
(1) siderites

(2) iron pyrites

(3) magnetite

(4) haematite

One of the States through which the
Tropic of Cancer passes is

(1) Bihar
(2) Jharkhand
(3) Himachal Pradesh

(4)

Jammu and Kashmir
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Which part of the islands in the Arabian

Sea is known as Minicoy Islands ?

(1) Kastern

(2) Western
(3) Northern

(4) Southern

Where can one expect dry winters in
India ?

(1) Bengal plains
(2) Tamil Nadu
(3) Jammu and Kashmir
(4) Punjab and Haryana plains

Which soil swells when wet and develops |
cracks when dry ?

(1) Alluvial
(2)

3)

Laterite
Black

(4) Red

Aluminium usually occurs in the form of

(1) pyrite

(2) bauxite
(3)

ilmenite

(4)

pure metal

121. Fill in the next number in the series
3, 7, 16, 35,

(1) 39

(2)

(3)

(4)

80
70
74

122. Fill in the next number in the series :
5, 15, 45, 135,

(1) 9

(2) 15

(3)

(4)

405
675

123.
same manner as

(1
(2)
3
4)

Student and Books
Ink and Paper
Door and Handle
Paint and Brush

124. Spot the odd number in the following :
a. 7

b. 35

c. 27

d. 49

(1) b
(2) a
3) ¢
4) d

Chalk and Blackboard are related in the

o

GS/200



GS/200 (31)
117. ©T8DANS Sdw@dn  H0sd d  (DodD |121.

BHew wAsPah BHeor D oBDD ?

(1) S8y

(2) DBy

(3) g8

(1) &8

122,

118. & (808 &S, godolre’, o (Frosdns’,

DS DO sOHNR. KO WrdSTY» ?

(1) Borrd Doed (DroSind®

(2) SDF oS

(3) ey OO 5“58&6366

(4) dozrdS ooy OOt O

uﬂ“oéééxodf
123.

119. & (808 &S, O &Y Frd S3oe

észéla’)yéa &@Qoﬁ, Popts Yo éséla’ayé

Debrehy D 7

(1) 2088 25raD

(2) o3& Hrd

(3) $00KG 2 124.

4) I
120. JGroednm  oorgddob, & (808

SIS, D ErHiwst odod ?

23

aao

(1)
(2) zr_g_‘)éf
(3) aBngf

W rgd zm@/%;g St dn

& (806 Domg

Drdow :

Eodws®  Soards

3, 7,
(H 39
(2) 80
3y 170
4) 74

16, 35,

88 (8ob
Rrdodaw :

(Edns®  SShard  Dowgd

5, 15, 45, 135, _-
1 9
(2) 15
(3)
(4)

405
675

o8 uda 'g’EaS*;é DoOGHNDB, &
(Bod &dS° B8 a&Ho ?

(1D g)»»aoef 80X a>s§‘3 :
ao§ 0o DHE -

&6 w00k BosS

(2)
(3)

(4) Dowod ook (22 -

& (808 T8S°,
80w :

MDHDD  dowgd
a. 17
b. 35
27
49

a0

1) b
(2) a
@) ¢
4 d



125.

126.

127.

128.

(32)

Choose the number that will continue the
series :

242, 353, 464, 575,

(1) 676
(2) 686
(3) 696
(4) 787

Ten men can finish construction of a well
in eight days. How many men are needed
to finish the work in half-a-day ?

(1) 160 men
(2) 120 men
(3) 100 men
(4) 80 men

A man walks along a rectangle whose
perimeter is six km. If the area of the
rectangle is two sq. km, what is the

difference between the length and
breadth of the rectangle ? '
1
(1) 5 km
(2) 1 km
1
(3) 15 km
(4) 2 km

A one-rupee coin is placed on plain paper.
How many coins of the same size can be
placed round it so that each one touches
the central and adjacent coins ?

(1) 3
2) 4
3) 6
4) 7

129.

130.

131.

132.

GS/200

A person covers the distance from P to Q
at the speed of three kmph. From Q to P,
he covers it at six kmph. What is the
average speed per hour ?

(1) 3-5 kmph

(2) 4 kmph

(3) 4-5 kmph

(4) 5 kmph

If PASSPORT is coded as RCUURQTV,
then how will BOOKLET be coded ?

(1) CQQMNFV

(2) CPPLMFU

(3  DRRNMGW

(4) DQQMNGV

Find the probability that in five tosses, a
coin shows heads at least 3 times in
succession.

3
(1) 0
1
2) -
1
3) 3
@ X

The angle between the minute-hahd and
the hour-hand, when the clock shows the
time as 7-30, is

(1) 35°
(2) 45°
3) 30°
(4) 40°

e



GS/200 {33)
125. & (808 &8s, (¥hdw  edQyHore [129.
G odb DBAHKH Sopg 0§ ¢
242, 353, 464, 575,
(1 676
(2) 686
(3) 696
(4 787
126. 2.5 &' Domedwd 10 &od 8 Serodt
JroBoducod. & HS @gSSas)cS‘
SroToud® JosH 5B ? - |130.
(1) 160 o0&
(2) 120 Sod
(3) 100 &o&
(4) 80 o0&
127. 28 %8 6 8. SSos Ho
BSYrs 8w Ko écéazbassésa‘léa.. PN
3, 535, SHEFEEY) JTogin 2 $.8.2. |131.
oS, 6g BHPrS Ed By PED),
Sdevye g Ko dac dos ?
1
(1) 5 8..
(2) 1 8.
1
® 15 8.3
(4) 2 8..
128. 28 drarow w2 BTSN
G0S2A0. ©d HdErodw Ko N |132.

B8 g SPBRAVD bk
DD B eI, o) Sk
oSy ?

(1 3

2 4
(3). 6
4 17

28 &8 P od Q IBH Ko Srdwd
Kob% 3 8. SKdws JHd. Q Hod P

J8H 6 8. s JTHd. eowd.
Ko&% Jo°Hd Iudw dod ?

(1) 28 Xo&% 35 8.2».

(2) 28 Kob% 4 8.2.

(3) 2.8 Koo% 45 8.

(4) 28 Ko&% 5 8.2.

283¢ PASSPORT & Ho8é d;»::zﬁ»cs‘
RCUURQTV S35, BOOKLET

508 SErddw 26 ? o

&)
(2)
3)
(4)

CQQMNFV
CPPLMFU

DRRNMGW
DQQMNGV

28 B 08 I NS Sowds',
£S5 HEHIT fardd K So IO

fo Jozrdgdd Sty ? '
)]
(2)
3)

(4)

[y
|- o= 'AI-&‘ o[°°

KBOYrEEy 730 Hobo Srd) SRoabind®
QADHIWOD, Hobod Ird) W Locsg
Sextn o ?

35°

45° -

30°

40°

1)
(2)
3)
4)



[E' .

133.

134.

135.

{34)

In a class of 80 students only 20 went for
a summer camp organised as part of the
school programme. What percent of the
total class opted out ?

(1) 175
(2) 60
3) 25

(4) 45

Spot the emotion that does not belong to
the group :

(1)

twinkling eyes

(2)

-wrinkled nose

(3) straight forehead

(4) smiling lips

‘Special Education’ programmes are for
these target groups :

(1)

industrious children

(2)

genius men and women

(38) retarded men and women

(4) handicapped children

136.

13"

-{138.

139.

GS/200

X has been caught red-handed in an
office, looking into a file marked ‘Strictly
Confidential. What will be his most
reasonable action in the situation ?.

(1)
(2)
(3)
(4)

To admit to the crime
To offer a logical alibi
To stand rooted to the ground

To feel embarrassed

A man started walking from a point
towards South-West. After 5 m he turns
right at right-angles. After 10 m he again
turns right at right-angles. In what
direction is he finally walking ?

(1) South-East
(2) South-West
3)

(4)

North-East
North-West

Y walks 16 km to the North, then 12 km
East, and 16 km South. How far is Y
from the starting point ?

(1) 12 km
(2) 16 km
3) 28 km
(4) 44 km

Table has Wood as Coat has
(1) Wear
(2)
3)

4)

Trouser
Shirt
Cloth



= 200

(85)

133.208 S°OgERtwS® o K Ay Fd
I BDEAIK ¥ SEKBSTD 80 Hvod
drgHost 20 Hod  Hr(Ed I9)T .
oowdE, iy  SEKBS'  BDEENSG
SFIV 30 TS Jod ?

(D
(2)
3)

(4)

134. &:

75

(808 IS erardd  Sdrdrdnd

Bo& eV $Hodw

(1)

(2)
3)

(4)

135. 0y Qc‘.ﬁ)s'S‘K:S’ '
Bodards®, D

DS e Ko

(twinkling
eyes) ’
wdden 535 &y (wrinkled nose)
850 Ve (straight féreh_ead)‘

DEBHIE’E w&Hew (smiling lips)
'svdsLé&é»,

DL

&3
oggénzé)

GO ?

(1)

(2)

(3).

(4)

L’ég so aafoo:.g
(B8D0HBS  Hhvdd
éaim:fo}z

V) 0o

8 2058w Ko HEhow B

f»::vq;fo}g

Déo‘omgé (ISR

136. 2% s*mgoo)ﬁ.‘{n»é‘ EySdore IS’

137.

138.

139.

(@)

(Strictly Confidential)

®d  Ho8BoSdd

Peod Srdd o Sdy 3_@&3;)0})3 X

o D X)%»a)&mcﬁa.
o888 Tror I HdvDS {5(55 0 ?

(1) 5505 ©0A%60%d

(2) éd&acﬁa)é
@6305)3&)/@@3"5016)&)

Y W Jowadhéd
CEIRTSIAT RSt A1

3)
4)

28

:6(55263. 3»650)‘3)&;3&0. PeYal)

wg(S 2

u  SdoHiwe®

89

£38 o8 Fo 368 (635 39
QAW

oS H3 Fdh HLSwins® 86mS
DY DO AW SHhard DL it
SOR%. DIE 28 D QB_KQ) LK)OXJ‘EQO{.’D

‘ iﬁgavlc‘é) ?

1)
(2
(3)

853 (wihoho)
rE3F EH3)
@5—&«7 (éa%r&gén)
RS (a‘oﬁ:égénf

H

Y o g8 6S85m3H) 16 8. Sdhard

SrEnSH 12 8.0 Hdoky  SEmEndd)

16 8.2, :6&5263 20Hend 0D (ooé» ﬁ)oé

Y Q08 Sr8ind® samyd ?
(1) 12 8.%.
(2) 16 8.2.
(3) 28 8.2n.
(4) 44 8.0,

Table, Wood % $dncXu&d, Coat B

$ONaS)B ?

¢ V)
2
3

(4)

Wear .
Trouser
Shirt
Cloth



140.

141.

142.

143.

@

(36)

Body includes Limb as Tree includes

(1) Wood

(2)

Branch

(3) Seed

(4) Soil -

What comes next in-the following letter
series :

BEI, DGK, FIM, HKO, ?
(1)
(@)

KMP
JMQ
(3) JMN

4) JMP

In 10 years A w111 be tmce as old as B |
was 10 years ago. If A is'now 9 years -

older than B, the present age of Bis
(1) 19 years

(2) 29 years

(3) 39 years

(4) 49 years.

A quantity is found to vary in the order

9, 16, 25, 36, 49. What will be the next

number in the order ?
(1) 57
(2)

3)

64
68

61

144.

145.

146.

GS/200

In a certain code RECESSION is written
as. ERECSISNO. How is ECONOMICS

ertt&ﬂ in that code ?

(1) CENOOIMSC
(2) CEONOMISC
" (3) CENOOIMCS
(4) NOCEOSCIM
If it was Monday on January 1, 2007,
what day was January 1, 2008 ?
(1) Sunday
(2) Monday
(3) Wednesday
(4) Tuesday
Spot the odd figure in the following :
- (D
b' i ; .
. |
. 7
1) ¢
(@ 4
3
4 b



GS/200 (37)
140. Body, Limb & %dAcvi&yd. Tree &I |144.
éé’)ﬁom:é;lé
(1)  Wond
(2) Branch
(3)  Seed
(4)  Soil
ML 6 (808 o8 SEIES’ DB Huyd 7|
BEI, DGK, FIM, HKO, ____? ' 145.
(1) KMP
2 JMQ
(3) JMN
(4) JMP
142. 38 (10) SH8\Gdwo sodws® A, B|146.

3.

1

(4)

10 JoDEYEoH Jrogimd)  HanlnyHK
SoGodwotod. a3, [P A

9 SodéyBiwen B vy DY oadS B
(DS Hobdyy dos ?

(1) 19 boéégﬁi’mw

(2) 29 éo;’u_é;)&énw

(3) 39 DodSyGiwes

(4) 49 6053:5365:»@

28 HOdreEn 9, 16, 25, 36, 49 (KhSws®
bmﬁa@cﬂw:éla. & [EDiwd® Sthars Soge
2B ? _ ' '

57

(2) 64
3) 68

61

3

o¥ D084  Erdiws® RECESSION &
ERECSISNO  |orabadds. € Hosd
Erdod® ECONOMICS 2 o d&dwm

| o0t ?

CENOOIMSC V'
CEONOMISC
CENOOIMCS
NOCEOSCIM- -

(1)
(2)
(3)
4)
LE3Y 2550 1, 2b07 Q‘X:Ja*d‘oﬂn oSS,
2300 1, 2008 & &2 won dokd ?
(1) wbadSdHn

(2) Faddw

(3) andaddmw

(4) éaor‘i%avtﬁém

& (305 oIS DDHBD  doded
Hooddw -

1)
(2)

[ ~ P o

o

4)



147. Mark the right pair in the following

figure :

a.

148. In the ‘following figure,  how many
squares can be spotted ?

(D

(2)

3)

(4)

12

14

15

-

(38)

150.

GS/200

149. Mark the correct relationship between

the vertical and horizontal lines in the

following figure :

A
B d
(1) AC = BD
(2) BD > AC
(3) BC=AC
(4) AC > BD

The correct symbol of the Swastika is

a.

b.

(1)
(2)
(3)
(4)

-

—

e
L




GS/200

147.

148.

(1) bd
(2) ad
3) cd

@ de

& (308  Dedws® R SSHEEEwOD

$8055S0y% 7

& (508 BEEnd 988 wdh H0SED :

~

\l.

(1 8
(2 12
(3) 14

(4) 15

(39)

RELS)

oﬁ)qSS Ko
Ibgoi’»zﬁ» :

A

%
)
3)
@

a.

(V)
(2)
3)
4)

AC =BD
BC > AC

BC = AC

C

AC>BD

—
L

—

150. 2RELH HOGHD Diseyiw

149. & (8308 BLIS® Jevd DBk S
Jo0og s



